

� ا���������
����� و ���ب ا����م و ا������ت و: ا� �����  


� ا
	�� أ����  :1ا�!�� �SABCD  ����
ه�م ���� ������ ا
ABCD 

 ���AB = 4cm  و ار����� ،SA = 5cm.  

  
1.  #$��&� ا
%�م  VأSABCD. 

���ن   .2)*$�
)��+ أن اAS)و  (ACان (�,�-*,. 

3.  #$� .SCو  SBو  ACأ

4.  ��0�
 ���� ا
7او56؟ ��� 34ا�2؟ SBCه� ا

  
)
� ا
	�� أ����  :2ا�!�� �Fوط دورا8� رأ��  (�;,A آ7 و�,
������ O  و ار�����AO، أن ���� AB = 5 m و OB = 3 m .  

  
1. #$��5 ا
 SL أ�$��=8�&
)
%?< ا
�;�وط5 اF( . 

2.  #$��&� ا
�;�وط V، و ا�*AO @*Aأ )F(. 

��  (OBC)ا
�$*3ى ا
�3ازي 
��$*3ى  .3)*$�

�  �E)6(AO) ا
D  و(AB)  �
E ،�8وط دورا�;, F�� �GHA
(F')  ��IG�

 ��JKورا8� ا�
)
��;�وط اFأن ( ���� ،AE = 18 dm: 

a(  #$��� kأIG*
 .8$=5 ا

b( #$��5 �ا
�$ أ=8�&
�5 اS'L �8ورا�
)
��;�وط اF'(. 

c(  �&H
)
��;�وط ا
�وراV' �8أ�$# اF'(. 
  

�Oت ����، ������<  ABCDEFGH :3ا�!�� �E*$, 3ازي*,
ABCD  وEFGH ��� ،AB = 3 cm  وAD = 2 cm   

  .AE = x cmو 
��د ا
-�د  )1x  �&�cm 18هABCDEFGH 3إذا ���P أن 

3. 

 ؟AEFGH,� ه3 �&� ا
%�م  )2

3(  ��)*$�
)��+ أن اAE3ى  (*$�
 .3��(EFGH)دي ��F ا

4(  ��0�
 .���� ا
7اوAEG 56ا�*A*@ أن ا

5(  +�*
�$�
��د اEG  وAG.  


�  ABCDEFGH :4ا�!�� ���  .3U #-�,aل 

  
�� ا
%�م E)� �-�BEFG  �GH8 �$&�

� اF��(M) F��K ا.  

  
1(  #$�)�&� ا
�&$�  VأM(  5
V��a. 

2(  #$�
�ت أ�$�

BG  5و  EBو  EGاV��a. 

3(  @*A*��0   ا��
�-5 ا=UEBG؟ ��� 34ا�2؟  
  

  .6m IJ =و  10m DA =ه�م ,�W*A ار�����  IJKLA :5ا�!�� �

  
1( #$��&� ا
%�م  V أAIJKL. 

2(  #$� .AIأ

3(  �E)6 ة���)

�  (AD)ا
�$*3ى ا
�3ازي 
�$*3ى اO  )وAI( 
 �
B  و(AJ)  �
C و(AK)  �
E و(AL)  �
F،  أن ����

 �6�&

�%�م اABCEF  ��JKا
%�م ا ��=��AIJKL  5=$A�   

k = 
3

2
: 

i(  #$��
AO . 

ii(  #$��&� ا
%�م  'VأABCEF. 
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